ANSWER KEY

B Q. No. Answer Q. No. Answer
1. B. Renaissance 51. C. Two zeros
2. B. Recommendation 52 C. 12
3. B. A complete surprise 53. A. 13
4. C. Member of high class society 54. D. 51 and 34
5. B. was writing 55. D. parallel line
ﬁ 6. B. was watching 56. B. Supplementary
7 D. Acceleration 5. A. Solution set
8. C. Aggressive 58. D. {1,3.5}
9. B. of 59, A. Order is same
10. | B. Appointed 60. B. Singular matrix
' 11. | C. Audience 61. | A.Linear equation
12. | A. Stale 62, B. Rational number
( 13. | C. Reliable 63. |B.0
14, | D. Humy 64. [C. 1616
i 1S, B. To suspect that something is | 65. B. 2-3-1
‘s wrong
| 16. | D.hadleR 66. | B. Aurobindo Ghosh
17. | B. isn\'t she 67. C. Choudhary Rehmat Ali
L
18 | A Hertz (Hz) 68. | B. Kalhana
19, | C. Arithmetic Logic Unit 69. D. A Sepoy Mutiny
| _20. | B. Responsible Government 70. B. Khudiram Bose
21. | B. All powers are divided into . A.1881,
Central Government and
Regional Government
22. | A. Pakistan 72 B. Bipin Chander Pal
23. | B. Hockey 73. C. West Bengal
24, | A Sushma Swaraj 4. D. A. O. Hume
' 25. | A. Gulmarg T D. New India
26. | C. Mica 76. C. Bahadur Shah-I1




27. | C. Winter i C. March 5, 1931
28. | B. 10" December 78. | C. Akbar
29. | A. 25 years 79. A. Ubiquitous
30. | A. Aryabhatta 80. D. All of the above
31. |[B. 5 81. A. Sustainable development
32. | A. Pandit Jawaharlal Nehru 82. D. All of the above
33. | B. Artery 83. D. All of the above
34. | D. Ascorbic acid B. Intercropping
84.
35. | C. Chlorophyll 85. A. Mineral
36. | A. Capillaries 86. C. Sedimentary rocks
37. | A. Measles 87. A. China
38. | A. Liver 88. A. Cool climate and high rainfall
39. | A. Estrogen 89. B. Ahmadabad
40. | D. Reproduction 90. D. All of the above
 41. | C. Defend the body 91. A. Methane and carbon dioxide
42. | D. Glycine 92. B. Primitive subsistence
agriculture
43. | C. Measles 93. B. Jute
44. | C.Botha &b 94, C. Urdu
45. | B. Citric acid 95, B. Jhelum
46. | C. Crude Oil 96. D. Pilgrim
47. | D.US 97. D. Had
48. | C. Carbon monoxide 98. C. Schedule
49. | A. polyvinyl chloride 99, D. implacable : compromise
. 50. | B. 50 100. | D. Outskirts : town




